
 
 

B.Sc. Semester III (General) Examination, 2020 (CBCS) 

Subject: Physics 

Paper: CC-IC/GE-3 

 

Time: 2 Hours        Full Marks: 40 

 

The figures in the margin indicate full marks. 

Candidates are required to give their answers in their own words as far as possible. 
দক্ষিণ প্রান্তস্থ ঳ংখ্যাগুক্ষর ঩ূণণভান ক্ষনদদ঱ণক। ঩যীিার্থীদদয মর্থা঳ম্ভফ ক্ষনদেয বালায় উত্তয ক্ষদদে ঴দফ। 

 

Answer any eight of the following:       85=40 

ক্ষনম্নক্ষরক্ষখ্ে যমদকাদনা আটটি প্রদেয উত্তয দাও: 

 

1.Write down Maxwell's law of distribution of molecular speeds.  Using the Maxwell's speed 

distribution formula, find the root-mean-square speed of molecules of an ideal gas at 

temperature T. Show that the r.m.s speed C is  
3

𝛾
 times the speed of sound, where  is the 

ratio of two specific heats of gas. 
 

ভযাক্সওদয়দরয আণক্ষফক যফগ ফণ্টন ঳ূত্রটি যরখ্। ভযাক্সওদয়দরয যফগ ফণ্টন ঳ূত্রটিয ঳া঴াদময গড় ফগণদফদগয ফগণভূর ক্ষনণণয় কয। যদখ্াও যম 

r.m.s যফগ C ঱দেয যফদগয  
3

𝛾
 গুণ,  যমখ্াদন  ঴দরা গযাদ঳য দুই আদ঩ক্ষিক োদ঩য অনু঩াে। 

 

2. What is meant by ‘free path’ of a molecule in a gas? Estimate the mean free path λ of atomic 

helium at STP. Given, mass of a He atom is 5 × 10−27  𝑘𝑔 and density of He at STP is 1.78 ×
10−4𝑘𝑔.𝑚−3. One can assume He atoms as hard spheres with radius 0.1 nm. 

গযা঳ অণুয ‘ভুক্ত঩র্থ’ ফরদে কী যফাঝায়? ক্ষ঴ক্ষরয়াভ ঩যভাণুগুক্ষরদক 0.1 nm ফযা঳াদধণয ঱ক্ত যগারক ক্ষ঴঳াদফ অনুভান কদয STP যে 

ক্ষ঴ক্ষরয়াভ ঩যভাণুয গড় ভুক্ত঩র্থ ক্ষনণণয় কয। একটি ক্ষ঴ক্ষরয়াভ ঩যভাণুয বয 5 × 10−27  𝑘𝑔 এফং STP যে ক্ষ঴ক্ষরয়াদভয ঘনত্ব 

1.78 × 10−4𝑘𝑔.𝑚−3
। 

 

3. What is meant by equivalent conductivity? Two slabs of thicknesses  𝑥1, 𝑥2 and 

conductivities 𝐾1, 𝐾2 respectively are placed side by side in contact with each other. 

Determine the equivalent conductivity of the composite system. 
 

েুরয ঩ক্ষযফাক্ষ঴োঙ্ক ফরদে কী যফাঝায়? 𝑥1  এফং 𝑥2 যফদধয ঳ভের ঩ৃষ্ঠমুক্ত, 𝐾1   এফং 𝐾2 ো঩ ঩ক্ষযফাক্ষ঴োদঙ্কয দুটি ধােফ পরকদক 

঩া঱া঩াক্ষ঱ মুক্ত কযা ঴দর ঳ভফায়টিয েুরয ঩ক্ষযফাক্ষ঴োঙ্ক ক্ষনণণয় কয। 

 

4. a) Two moles of an ideal monoatomic gas, initially contained in a cylinder at a pressure 

1 × 106𝑁𝑚−2 and temperature 27℃ are made to expand until the volume is doubled. How 

much work is done if the expansion is isothermal? 

b) State Zero-th law of thermodynamics. 

a) একটি ক্ষ঳ক্ষরন্ডাদয আফদ্ধ দুই যভার আদ঱ণ এক঩যভানুক গযা঳দক প্রার্থক্ষভক বাদফ 27℃ ো঩ভাত্রায় এফং 1 × 106𝑁𝑚−2 চাদ঩ 

ক্ষিগুন আয়েদন প্র঳াক্ষযে কযা ঴র। গ্যাসটি ঳দভাষ্ণ প্রক্রিযায প্রসাক্রিত হযর তাহলে গ্যাস কততৃ ক কত তকালযৃি ঩ক্ষযভান কে ঴দফ?  

b) ো঩গক্ষেক্ষফদযায েীদযায ঳ূত্র ক্ষফফৃে কদযা। 

Page 1 of 2 



 
 

 

5. Draw a Carnot cycle on (a) a p-V diagram and (b) a T-S diagram. A 100 kW reversible 

engine operates between 227℃ and 27℃. Calculate (i) the amount of heat absorbed, (ii) the 

amount of heat rejected and (iii) the efficiency of the engine. 
 

কাদনণা চক্রদক (a) একটি p−V ঳ূচক ক্ষচত্র এফং (b) একটি T−S ঳ূচক ক্ষচদত্রয ঳া঴াদময প্রকা঱ কয। একটি 100 kW প্রেযাফেণ ক 

ইক্ষিন 227℃ এফং 27℃ উষ্ণো ঩াল্লায ভদধয কাে কযদে। ইক্ষিন কেৃক (i) গৃ঴ীে ো঩, (ii) ফক্ষেণ ে ো঩ এফং (iii) ইক্ষিদনয 

কভণদিো ক্ষনণণয় কয। 

 

6. State Kelvin-Planck statement of second law of thermodynamics. Find the change in entropy 

when 1 gm of ice at 0°C is gradually changed to 1 gm of dry steam at 100°C at one 

atmospheric pressure. Given: Latent heat of fusion of ice at 0°C = 80 cal/gm and latent heat 

of vaporisation of water at 100°C = 540 cals/gm; specific heat of water = 1.  
 

ো঩গক্ষেক্ষফদযায ক্ষিেীয় ঳ূত্র ঳ংক্রান্ত যকরক্ষবন প্লাঙ্ক এয ক্ষফফৃক্ষে টি যরদখ্া। 0°C উষ্ণোয 1 গ্রাভ ফযপদক এক ফায়ূভন্ডরীয় চাদ঩ 

100°C উষ্ণোয 1 গ্রাভ শুষ্ক ক্ষিদভ ঩ক্ষযনে কযদে এনট্রক্ষ঩য ঩ক্ষযফেণ ন কে ঴দফ? যদওয়া আদে, ফযপ গরদনয রীনো঩ 80 

cal/gm এফং ফাষ্পীবফদনয রীনো঩ 540 cals/gm; েদরয আদ঩ক্ষিক ো঩=1। 

 

7. Prove the thermodynamic relation 𝑇𝑑𝑠 =  𝑐𝑣𝑑𝑇 + 𝑇  
𝜕𝑃

𝜕𝑇
 
𝑉
𝑑𝑉. Hence, show that for one 

mole of van der Waal’s gas 𝑑𝑄 =  𝑐𝑣𝑑𝑇 +  
𝑅𝑇

 𝑉−𝑏 
𝑑𝑉.  

প্রভান কয 𝑇𝑑𝑠 =  𝑐𝑣𝑑𝑇 + 𝑇  
𝜕𝑃

𝜕𝑇
 
𝑉
𝑑𝑉। এক যভার বযান-ডায-ওয়ারস্ গযাদ঳য যিদত্র এয যর্থদক যদখ্াও যম 𝑑𝑄 =

 𝑐𝑣𝑑𝑇 +  
𝑅𝑇

 𝑉−𝑏 
𝑑𝑉। 

 

8. State Planck’s formula of energy distribution in blackbody radiation. Show that Wien’s 

formula and Rayleigh-Jeans formula are particular cases of Planck’s formula. 
 

কৃষ্ণফস্তুয ক্ষফক্ষকযণ ঳ম্পক্ষকণ ে প্লাদঙ্কয ঱ক্ষক্ত ফণ্টন ঳ূত্রটি ক্ষফফৃে কয। যদখ্াও যম, ক্ষবন্ এফং য  ্ মাযর-েীযেয ঳ূত্র প্লাদঙ্কয ঱ক্ষক্ত ফণ্টন ঳ূদত্রয 

ক্ষফদ঱ল যিত্র। 

 

9. Distinguish between cooling produced by JT-process and adiabatic expansion. Prove the 

following relations: (a) 𝑆 = − 
𝜕𝐺

𝜕𝑇
 
𝑃

, (b) 𝑉 =  
𝜕𝐺

𝜕𝑃
 
𝑇

and (c)  
𝜕𝑆

𝜕𝑃
 
𝑇

= − 
𝜕𝑉

𝜕𝑇
 
𝑃

; where symbols 

have their usual meaning.  
 

রুদ্ধো঩ ঱ীেরো এফং েুর-র্থভ঳ন্ ঱ীেরোয ভদধয প্রদবদ যদখ্াও। প্রভান কয (a) 𝑆 = − 
𝜕𝐺

𝜕𝑇
 
𝑃

, (b) 𝑉 =  
𝜕𝐺

𝜕𝑃
 
𝑇

 এফং 

(c)  
𝜕𝑆

𝜕𝑃
 
𝑇

= − 
𝜕𝑉

𝜕𝑇
 
𝑃

; যমখ্াদন প্রেীকগুক্ষর প্রচক্ষরে অদর্থণ ফযফহৃে। 

 

10. Define ‘distribution function’. Compare the Maxwell-Boltzmann, Bose-Einstein and Fermi-

Dirac distribution functions. Under what conditions do Bose-Einstein and Fermi-Dirac yield 

the classical statistics?  
 

ফন্টন অদ঩িদকয ঳ংজ্ঞা দাও। ভযাক্সওদয়র-যফারজ্মভযান, যফা঳-আইনিাইন এফং পাক্ষভণ-ক্ষডযাক ফন্টন অদ঩িদকয ক্ষবেয ঩ার্থণকয কী? 

যকান ঩ক্ষযক্ষস্থক্ষেদে যফা঳-আইনিাইন এফং পাক্ষভণ-ক্ষডযাক ঩ক্ষয঳ংখ্যান ঳নােন ঩ক্ষয঳ংখ্যানদক যভদন চদর? 
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